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STATIC ELECTRICITY
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Year X – Physics		QUIZ 
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A plastic rod is rubbed with a cotton cloth. This process causes the rod and the cloth to become
charged. These charges cause a force between the rod and the cloth.

Which row compares the charges on the rod and the cloth, and describes the effect of the force
between the rod and the cloth?

shaseehiod | ot
A opposite they attract
B opposite they repel
[} the same they attract
D the same they repel
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A teacher wishes to show the production of electrostatic charges.

She holds a rod and rubs it with a cotton cloth. A copper rod, a glass rod, a plastic rod and a steel
rod are available.

Which two rods would both be suitable to use?
A acopperrod and a glass rod
B aglass rod and a plastic rod
C aplastic rod and a copperrod
D

a plastic rod and a steel rod
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A metal sphere, mounted on an insulating plastic stand, is positively charged.

(a) State the name of the unit in which electric charge is measured.

(b) A smaller metal sphere, also mounted on an insulating plastic stand, is uncharged.

This smaller sphere is moved close to the positively charged sphere. Fig. 8.1 shows the two

spheres.
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Fig. 8.1
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(i) On Fig. 8.1, draw the distribution of charge on the smaller sphere. [2]
(ii) An earthed metal wire is touched against the smaller metal sphere.

State and explain what happens to the charge on the smaller sphere.

(c) Explain, in terms of their structures, why the metal wire is an electrical conductor but the
plastic stand is an electrical insulator.
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Two plastic rods P and Q are both negatively charged. Rod P hangs freely.

rod P

rod Q

The end of rod Q is brought near to end X of rod P, and then near to end Y of rod P.

What happens to the rods in each position?

near end X nearend Y
A they attract they attract
B they attract they repel
C they repel they attract
D they repel they repel
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